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Question to be done:-

Introduction of chapter
Warm up

Ql-a
Q3-b,
Q5-b

d
d
d

!fl
 f

’el

h(notebook)
h (notebook)

Mathematics

g (notebook)

Q1- a, d, f, h(notebook)
Q3- b, d, g, h(notebook)
Q5- a, e, T (notebook)

Worksheet

Toéic: |unit 7- Estimation

Ex:-7TA
Q2- a, ¢, e, h(notebook)
Q4- b, d, f, h(notebook)

Ex:-7B
Q2- ¢, d, g, h(notebook)
Q4- b, d, g, h (notebook)
Q6- a, ¢ (notebook)




Exercise 7A

1.

2.

(a)
()
(a)
()
(a)
(e)
(a)
(e)
(a)
(e)

60
10210
300
219800
24000
447000
200000
14000000
130000000
20000000

Exercise 7B

1.

2.

(a)
(e)
(a)
()
(a)
(e)
(a)
()
(a)

-
13

S
9.4
0.31
6.24
42.404
0.789
6.7+9

(b) 31.83 =16

(c) 42+13

(d) 9.823 =+ 29

(b) 480

() 34800

(b) 623100

(H) 6700

(b) 16000

() 184000

(b) 700000

() 36500000
(b) 60000000
() 210000000

(c) 980
(g) 204510

(c) 1010100
(g) 5700

(c) 17000

(2) 563000

(c) 600000

(2) 21400000
(c) 80000000
(2) 260000000

6230
308980
8100
318700
32000
1350000
1100000
16400000
80000000
330000000

(d)
(h)
(d)
(h)
(d)
(h)
(d)
(h)
(d)
(h)

(d) 19

(h) 47

(d) 34.8
(h) 633
(d) 123.77
(h) 216
(d) 3.166
(h) 10.284

0.744 correct to two decimal

(b) 7 (c) 9
() 64 (2) 9
(b) 8.7 (c) 76.7
(H 10.3 (g) 103.5
(b) 12.15 (¢c) 16.89
() 63.15 (g) 47.85
(b) 62.413 (c) 89.473
(H 18.004 (g) 43.765
9)67(0.744
— 63
40
—36
40
—36

4

places = 0.74

16 531.832 1.989

— 16
158

— 144
143

— 128

150

— 144

6

13
— 39
30
— 26
40

-39

1

1.989 correct to two decimal
places = 1.99

4.2 (0.323

0.323 correct to two decimal
places = 0.32

29 s 9823(0.338

— 87
112
— 87
253
— 232
21

0.338 correct to two decimal
places = 0.34



21

() 17.193 =7 7 Y17.193 (2.456

— 14

31

— 28
39
— 35
43

— 42

(H 19+=8 8 Y19.00 (2.375

— 16
30
— 24
60

— 56

40
— 40
0

6
6. a —
(a) 17 17 Y60 (0.3529

— 51
90
— 85
50

— 34

160

— 153

=

(b)

NI

=49
10
=
30

— 28

20
— 14
6

@ 11 )30
11 =22

80

—77

30

— 22

80

—77

3

7 4 550 (0.7142

2.456 correct to two decimal
places = 2.46

2.375 correct to two decimal
places = 2.38

E)

Thus, 17 = 0.353
5

Thus, 7 =0.714
3

Thus, — =0.273









